## SECTIONS

## Solving Quadratics

$a x^{2} \pm b x \pm c=0$
Factoring
$(x+y)^{2}=x^{2}+2 x y+y^{2}$
$(x-y)^{2}=x^{2}-2 x y+y^{2}$
$(x+y)(x-y)=x^{2}-y^{2}$
$(d \pm e)(f \pm g)$
$=d f \pm d g \pm e f \pm e g$

Perfect square
$x^{2} \pm 2 c x+c^{2}=0$
Completing the square
for $a x^{2} \pm b x \pm c=0$ $a \underline{\text { must }}=1$,
move $c$ to right side, add $(b / 2)^{2}$ to both sides.

The quadratic equation
$x=\frac{-b \pm \sqrt{b^{2}-4 a c}}{2 a}$
*sung to the tune of Pop goes the weasel.

## Rational polynomial expressions

Factor polynomials and cancel common factors first.
long division

\[

\]

synthetic division

$$
\begin{aligned}
& -1 \left\lvert\, \begin{array}{llll}
1 & 1 & 1 & 1 \\
+ & \downarrow-1 & 0 & -1 \\
\begin{array}{llll}
1 & 0 & 1 & 0
\end{array} \leftarrow \text { remainder } \\
x^{2} x^{1} x^{0}
\end{array}\right.
\end{aligned}
$$

## Curve Sketching



